A2 - A2
RD 17 RD 6
STP 4 STP & 838 (pp 7 RD 17

<+1l|-,638}_—"—' r T DZ 8 ! WM 1

‘ RD 12 T

RD 8 = BCS), NGIX |

‘ DZ 28

‘ STP 2 ST 32 TP

| T5 T3 | - L Jord Lol | frd

STP 2 T1

7 F— RK 1 | ' -
= LUTAT) VA VAV A Vil EY s

S ( STP 3
| STP 4 ) 57

STP 4

RD 13 Vod : x F.d

S/

________ I +14,638)
|
|

STP 3 RD 13

T3
75

+14638

STP 2
+11170

=)=

ST 20
NG NNCID

|
.RD 16

7x5100=35700

| \(Dz 197; \k(sr 32)\(srp 2)
|

i
i
\
|
i
1
;

BS 6

.—/’.SG 38

BS 7

35700
| |
| | | |
A3 - A3
RD 10
_‘— STP 4 +14638 RO 7 STP 4 _‘— At_ +14638
RS N — _ B e R e e o Sl . = e e o e o ==
<+1[|-,638>— | | DZ 10 ) | STP 4 WH | ‘ - ~ro12 |
‘ ) RD 12 DZ3 ‘ RD 8 ! |
‘ RD 12 | BC 3 L (sTP 1 | , RD12) revps | —, |
: STP 3 DZ 26
| ST 3 il STP 3 STP 4 ‘ STP 3.(STP 2 |
! T3 . | - — Z ; LY =5 ! T3 w
STP 2 =5 RK 1 E 5 = k-
| I +
+1117 ERCIEN === A N /L N S NS N\ )\ J T SN\ JIN R
]
-\,-ST 50 $ \ RD 8 ‘ " / / \-.STP 2
ks | = ‘ == | = ST 20
| | @ | 7
‘ ‘ ’ RD 16 ‘ ’ .RD 1
| | | | | |
| | | \ \ |
| f | ‘ | ’
| | | =
| , | | . |
G | | |
| | | | | |
| | | |
| | | | | |
| | | | | |
| | | | 10
G120 -ﬂ______________________A__“_______;___________4______“_*_4_______*___4__________1 S
S OO . <o
| | | X = | | | /
| | | 35700 | | | Al
| : | | \ | | | ae |
| | | | | | | |
ELEMENTY STP... i T.. NALEZY tACZYC Z INNYMI ELEMENTAMI ZA POMOCA POJEDYNCZYCH SRUB | PODWOINYCH NAKRETEK.
ELEMENTS STP.. and T.. MUST CONNECT WITH OTHER ELEMENTS WITH SINGLE BOLTS AND DOUBLE NUTS,
) SPOINY NIEOPISANE: UWAGI:
—K<5 U3 Potaczenia doczotowe profili z blachami czotowyni 1) Elen}entyh{qlciyc zeh sobq na ti;:h dcafej hd{ugosd przylegania za pomocq spoin. 1) Stal S355, klasa wykonania konstrukcji EXC2 wg PN-EN 1090-2, .
£ ¢ czoiowych [UD pachwinowo—opwodowych. ) , 2) Elemenenty oczyszczone w procesie Srutowania do stopnia czystosci SA 2
D# wykonat i kontrolowat defektoskopowo wg zataczonego schematu 2) Grubosci spoin pachwinowych “a” w zaleznosci od rodzaju fqczonych elementéw: 3; Bichrania oﬁtykozsz i — mf:lowonie cagttnem o dop Klas iiroz - C;H
$1> 62 —rura z rurq; a= grubo$ci Scianki ciefiszego z fqczonych elementdw, wa PN=EN 150 12 9yi4 y Yl
Butt connections profiles with frontal plates to execute —blacha lub ksztattownik walcowon% Z rurq; a= grubosci &cianki rury lecz nie wigcej ) g :

and controled by defescope to the wiring diagram.

§ruby M16 klasy HR 10.9, taczace elementy dokrecat momentem dociskowym Mv=250Nm.
Bolts M16 class HR 10.9, connecting elements torque the clamping Mv=250Nm.

Bolts M20 class HR 10.9, connecting elements torque the clamping Mv=450Nm.

Bolts M24 class HR 10.9, connecting elements torque the clamping Mv=800Nm.

§ruby M20 klasy HR 10.9, taczace elementy dokrecat momentem dociskowym Mv=450Nm.

§ruby M2k klasy HR 10.9, taczace elementy dokrecat momentem dociskowym Mv=800Nm.

niz 0,7 grubosci blachy lub ksztaftownika,
—pozostafe elementy, a= 0,7 grubosci ciefiszego z fqczonych elementéw

3) Spoiny czofowe stosowat o pefnym przekroju ciefiszego elementu.

4) Poziom akceptacii jakosci spoin opisanych na szczegdfach - B,
nieopisanych — C, wg PN-EN SO 5817.

DESCRIPTION OF WELD:

1) The elements connect together along their whole lenght of adhesion
by means of butt welds ‘and fillet welds peripheral.

2) Thickness of joints "a” use depending on the type of connected elements:
—pipe with a pipe, a = thinner wall thickness of connected elements,
—sheet or rolled section with pipe, "a” = pipe wall thickness but not more

than 0,7 of a sheet thickness of the profile,
—other elements, a = 0,7 the thickness of the thinner elements concatenated

3) Butt welds use of full section of thinner element.

4) The level of acceptance of the quality of welds described on details - B,
undescribed — C, according to PN—EN 1SO 5817.

4) Wskazane elementy zabezpieczy€ przeciwogniowowo do R60.

LACZNIKI:

1) Sruby klasy 8.8 zqgodnie z 1SO4014, ocynkowane.

2) Sruby Klasy 10.9 zgodnie z DIN6914, ocynkowane, zestawy HV smarowane MoS2.

REMARKS:

1) Steel $355, class of steel contruction EXC2 according to PN-EN 1090-2

2) Construction components are purified in the process of blasting to grade SA 2 %

3) Corrosion protection — painting a set of paints for corrosivity class C2H

according to PN-EN SO 12944,

4) Indicated elements must be fire protect to R60.

CONNECTORS:

1) Bolts class 8.8 according to 1504014, galvanized.

2) Bolts class 10.9 according to DIN6914, galvanized, HV complete kits MoS2 Iubricated.

A EL,,,& %\@v % \

A IRESSE ~ 22495

SPOINY /WELDINGS:

S2

Q)
i/%i"

> S2 J
0,7xS2

S

—_

a=
2

w)

’

a=1,0xS2
S2
Qo
2> G
ST > 2 b
a=1,0xS2

Podstawa stupa

-

=82 11117 Kotwienie stupow obudowy SOB...

Anchoring of wall columns SOB...

_____ i ———

HAS M20x170/48
KLASA/CLASS 5.6
szt./pes. 82

-1 0,58m

=174

Ceresit CX15

Kotwienie stupow bram RD 21:24
Anchoring of door columns RD 21:24

2 x HILTI
HVU M16x125
HAS M16x125/38
KLASA/CLASS 5.6
szt./pcs. 16i 0,00

0=125

///‘FZ ‘

witn-g/af Kot wienie stupow ST 5
/\} A Anchoring columns ST 5

——

—
|
|

+ HIT-V (8.8)
|
|
|
x

|
l
|
!
|
|
l
|

szt./pes. 4
ﬂ,gtl -1 0,58m
‘\f\ — l_]ﬁl =T It
= I X Ceresit CX15
B = ]

Rew A-Dodano detal

Yabimo sp. z o.0. Services sp.k.
INVESTOR Ul

33-100 Tarnéw

Konarskiego 9

PROJECT

YS/2016/789, Frystigeymslan (cold storage)

OBJECT Widok A2 i A3

mqr inz. Arkadiusz Ostap

STADIUM: SHOP DRAWINGS

This drowing is the property of YABIMO
It must not be copied or used without written consent
of the Organization and must be retumed on request

MATERIAL Steel-5355

BOLTS:

DATAI23.09.2016 SCALE:1:10/20

FORMAT:Ax  Nr DVG: 012/ REV: A

109



